e ———

Total number of printed pages-23
3 (Sem-3/CBCS) CHE SE
2021
(Held in 2022)
CHEMISTRY
(Skill Enhancement Course )
OPTION-A
Paper : CHE-SE-3034
( Basic Analytical Chemistry)
Full Marks : 50

Time : Two hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.,
Answer the following questions : fany Jour)
1x4=4
et fraitarRs O e’ frat ¢ (Ricerzn s1fab)

ft) What is algal blooming ?

AL g [ 2

Contd.




(o Moo e dhisease caused by excess
Hoonde e dninlkang water.

Can e a1y aEeE T Efee e
B I T B AP R |
e} What ¢ bao e ccrvalion ?
S B DY O
(d) What s pradient method of elution ?
A Cafec s wdilont ooy

(e} What is the role of emulsificrs used in
cosmetic formulation ?

eI AT SFOIITS TR il
IS

(/i What is Dowex A-1 ?
T A-1 Be

Answer the following : fany three) 2x3=6
were APRZa @A fealt o (i folist)

fa) Do vou think et an sostiament of
hgehy poe e i pave ooy - an accurate

'

te ol

TR N B K TR TR P RIT A CA YN
R TN N A R T BT ERA P T -

L TR TR I N LY RO 1 R A !

(hj

(c)

(@)

(e)

Can all toothpastes be considered as a

cosmetic product ?

Feren BATHABIEE 2o ST fEEiet oty g
AN 2

Why is EDTA mostly used in
complexometric titration ?

YT DT SRIIsTET EDTA 3%
LTSI IJET 9 T e

The working principle of Gel permeation
chromatography is based on which

sorption mechanism ?

corel A e Ao SR
@ ciEs Termiffas esige wigiRe @

How can Reverse Osmosis (ROj
technique be used for large-scale water

purification ?

fRiTe SmRm <% o051 (e 2R ARTeR
ATt (i eferars g sike sl e
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At the lollowing : (any two)

."‘i Ll

(1)

(b)

5%2=10

Sl e et s (Rigetear wby)

What sne pne aavatives ? How are they
«lvcatied 2 Cave tew examples of each
1 Io""l 2+1+2=5
st e v e g4 e
[BUCA Bl 220 ML) CLEBII SRR
fuan

Discuss the general prnineiple of
chromatographic scpaiation with
reference to migration rate and
retention time. What is Ry valuc ? Why
is it significant ?

3+1+1=5
TN AAFVFIUT Ty NG @iw
GfGorE Y S 4T Tl AN S

41| Ry i Joveat 6 e 2 42001 R syl

What do you mean by ‘complexometric

titration’ ? What arc mankioe agents ?
Explain its role in complexometric
titration with suitable cvamples.

2+1+2=5
i R A A T R R R = e
Hy L for v ey Cille AP @%]"QT@
R R PR TR TR T

ISem eHch e gy |

(d) What is meant by tests of significance ?

What are those tests ? Briefly discuss
each test, 1+1+3=5

Al A9 ereet & gal 2 ofF 2 fwpng
& & ¢ Jrereet 19w 5T DAl |

Answer the following questions : fany three)

10x3=30

weTe el eepriER T il o (R ofnY)

(a) Write short notes on : 2%x4=10

TY o1 faay ¢

() Standard deviation
T figfe

(i) Chelating agent
e arers

(i} Food processing

A ALY

(iv) Arsiron Nilogon

g fetim
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(b} (i}

(c)

{n)

fi)

What 15 DV 2 Whid is its role in
jon-exchanpe resm ? What is the
basic diffeience hetween cation-
exchange resins and anion-

exchange resins 7 1+1+43=5

pyB & ¢ s fben cfEme ETe
SO B 2 @R A G
(o @R MET He & 2

[yevee e some important
apphieations ol 1on-exchange

TENIIE 5

-t (dfeed (HRDIH A
g g SieEsa F49 )

What are the major ingredients of
cosmetie products 2 Discuss the
yale ol cach ingredient in the
coumetie  formulations. Give

esamples. 2+3=3

ot AT % Beraery
oI AN AFTFANS UCTIFTHT
oI WHFG STETL BT & CIGIE
Twigae feil
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(i) What are deodorants and
antiperspirants ? How are they
different ? Why are antiperspirants
considered as quasi-drugs but not
as cosmetics ? 2+1+2=5

RorG @D S AFBARFRTETs I
& g 2 Pdes qoe erew 6 2
GRS s e g
RpTrolg Sl F41 T, A A
fapire wzg, fon ¢

(d) What is water pollution or water
contamination ? Discuss various
sources of water contamination.

2+8=10
ST gvRd o ot oo Rfen Tt
W T s 4|

e} () What is sampling ? What are
different sampling methods used
in water analysis ? 1+4=>

Wﬁ{%ﬁﬁs{@?ww
wepEee & o aead simfe A T4
g ?
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fij What do you mean by dissolved
oxygen (DO) ? Discuss the
principle of determination of
dissolved oxygen in water.
1+4=5
wiwe wRnew IR 6 el e AN
g wfe st [T 9 safes
74 TSTG! SCs I

() () What ane sipnificant figures ? How
many sipanbicant hgures are there
in 1-012x10 * ? Do the following
calculations and round off the
answers to appropriate number of
significant figures : 14143-5

(A) 35678 mqg + 2.V 7mg 1O Omy 1 2.91mg
(1) O Ihemt « 9238 gem
-1 bl {6 2 1-012 x1074 9
L] Y ST ST ¢ SETS MG

seted] B AT ORE FAFARHE TS
AT wFE AT T T4 8

(A) 35678 mg + 2.17mg +5.0mg +2.91mg
(B) 0.156cm3 x 9.238 g cm *

3 (Sem-3/CBCS) CHE SE/G 8

(i) Define mean and median. For

titrating 25mL of a given
copper (II} solution, the volumes
of the standard hypo solution used
were 20.2, 19.5, 19.9, 20.7 and
20.0 mL. Calculate the mean and
median of the consumed volumes.

2+3=5

NG S AT %@ 14t | 25mL Fo4F
(I)-T @3 @51 ST FEICS IR
@A o PR -Eg BT AR T
20.2, 19.5, 19.9, 20.7 W% 20.0
mL. SEHIAADS ITER QA WAOAS
TE Wl S N7 T w4
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(b)

(c)

(d)

(v}

Discuss briefly the effect of acid rain
on the environment.

oo eomT Wfew YT YBR HYLF
A F

What is alternative energy ? What are
different alternative energy sources ?

g i % 2 Ros e SomaR o & ¢

What is meant by thermoplastic and
thermosetting plastic ?

st it st il A 3 B get ¢

What 10 noba enerpry ? How does it

worle

oM *f& (@ ¢ 3 @i faed 2 ¢

Answer any two questions from the

following :

Sx2=10

wore fwal eTRE ATl gbi Tee fumt g

{a} Briefly discuss the greenhousc effect

and its causes.

CIGGE 2SIq 34 T Bl BT
AN 41 |
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(b) What arc the steps may be taken to

()

(d)

prevent the water pollution ? Discuss
bricfly.

AT e «1F1 e AR & & g e
=, 5YIF SEe- 4|

Discuss briefly different compositions
of soil.

5T RS 1o el otz ean 34|

What is clean energy ? Discuss different
types of clean energy briefly.

Tt «fe & ¢ ifer ewies et «ifex R
BT ST 41

Answer any three questions from the

following :

10x3=30

wee ol erpTR e fofabre es fua

(@)

Explain the social effects of soil
pollution with suitable example.
Discuss various sources of soil
contaminations.

S oA TR edike F geR (e
T TuIzIeTE JIYI T 1 A AFeR
fifen Somars Raw witama 3
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(b)

{c)

(c”

What is synthetic polymer ? Discuss
the uses of different plastics with
suitable examples. How do plastics
create problem to the environment ?

Discuss.

wesre e & ¢ Rfen omee it
IR TS AT WA 741 | 21
AR e et w9 F@ ¢
TS 4

Explain briefly Material Balance and
Energy Balance of a system with
chemical reaction.

Bl AmfG Ao Sl Wil Sfha ol
Al e O el )

What oot by cnergy crisis ?
D bielly how nuclear fission and
biotuel can be used as a probable
alternative sources of energy.

“Ife 7135 Ww [ @ 2 FefFme fraw o
(% 28 Ry &R ot 274 Al (12 Sare
DA F9 |
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(¢}

()

Deseribe different technologies used in
chemical industry.

RS e Rme Rivw enfes R
q9far =)

Explain the term ‘manufactured drug’.
Discuss different steps used in genetic
engineering. How are proteins
synthesized ?

ST Gig IFA B 3 ¢ arEhe
efee arvzre Rifew «r5 o et < |
Ao T dwe a2
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OPTION-C
Paper : CHE-SE-3074
{ Intellectual Property Rights)
Full Marks : 50
Time : Two hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in Ensligh or in Assamese.

1. Answer the following questions : 1x4=4
GG R ePeTEe Te e g
()  Why are peographical indications
miportant o2

coralibe it e sy b

(n)  What 15 composite trademark ?

fafee it Bz &9

{lii) What is the period of industrial design
and renewal period ?

3 {Sem-3/CBCS) CHE SE/G 16

(iv) What basic inclusion is made in

WTO Treaty that came into force from
01-01-1995 »

01-01-1995-4 74 <15} (3191, WTO
piee & i wiag $@ 3 ¢

Answer the following questions - 2x3=6
oS frat eoTes Tew o
()  Write the consequences of failure to
renew a patent. 2
CED NIRRT R AR & 2% Byl
i) (a) How are patent and discoveries
related ? 1%

{ii1)

‘(g»[\-,m.m S (MGG ool &2

b} ‘Gene sequencing is patentable’.
—Write ‘correct’ or ‘incorrect’ for
this statement. Yo
“ft S (oSS fRT ) Cfen(B1
BT & JuE’ )

What is ‘coliective trademarks’ ? 2

A ROARE [ fap
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3. Answer any two questions from (al, (b), (c)
and (d): 5x2=10
&1 W@ (), (B), (c) O (d) I Ricwzat 7o emiq
Ty faml g

fa) () Write four products where
industrial designs are applied. How
is industrial design different from
trademark ? (Vax4)+2:=4

it fox s S -1, SIRG! AR
T B 9] fow, Geaden Rwa
UE 2

(i) How is Madrid Protocol related to
WIPO ? 1

v 7o 5 WIPO 3 71 & ¢

(b} (i) Write, how products are protected
under geographical indication.
How can a person trade a
geographical indication tagged
product ? 2+1=3

ATPTR (SN T ufe
(FET TTF 9 @ 2 S

Figfeye 1 amm gem fem
(AT FRI AT 2
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3 [Sen

(c)

(d)

(1) Write the principles of .
Convention. '

(10 piwsiaa Totnier [

(i} Explain the statement, "Copy gy
is property " How i 4 e Late ol witl

royalty I IR copyvigpehit tas g hle

| L I BT
s aflef] -t gl peay A BT EITRTTR AR P
A wolhe Sy TRE o L PTG
w9 725E FfEe “ifEa e

(i) Write the difference between
licence and assignment ol
copyrighi '

MAUSOT & MGt 41 S ot
ALy [ v
What are the obligations of government
towards protection of biological

diversity ? How are plant breeders’
iphts  protected under Intellectual

Property Rights ? 3+2=5
crot ol skt ek off$ sl weEel B
e et siesifen sifteEy SifEe
CRUCRMUREL SRR it S B 9
U UHE St 14 Corre’




Write the answers of any three questions
from the following (a), (b), (c), (d), (e) and ()

options :

10x3=30

TS W2 (a), (), (c), (d), (e} TN () T Frmizar
fefist " To e ¢

(@) (i)

(i)

(b} {)

Why and how can registered layout
designs be assigned to others for
use ? Who can register a layout
design and what are registerable
items ? S

[2 Sl (it PG T2 WHRE T
A AR VI BN T 2 (FIRER
AT AGHR IR AR Ao I BRI
T G IRI ME 2

Write about the obligations of
patent holder. S

(ABT 4T FEIT ST Bialf |

Write four salient features of GATT
Agreement, 4

GATT [f&3 =i 5155 @l B
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()  Write in short about International

(¢ ()

(%)

Agreements of India on
trademarks. 6

CIRTS Wi Twe (Gouiite fram
TEIR =, OB R vyzs fa)

How do TRIPS Agreement provide
definition of Arademark’ ? Does
trade mark symbol expire after a
sct term of (ime ? Write four
qualities of a good trademark. How
does it help people in business ?

1atiotq+1=7

TRIPS &< wre Gowidy sy &
Goits oz i o RS ST fiEe
et 2l Wi 2 9B o GONES 595y
G el 12 < yepsifane %P (S Ty
]E v

Write in shory, eeption and
development o Intetlecinnl
Property Right in wo [ 3

S (At i QA Lt ] e,
e e o, BYLeh fugur |
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(d) (i
(it)
(iii)

e} (i)

When and where Budapest Treaty
signed and entered into force
internationally ? Write the
significant point of this Treaty.
(Yot Yat+Yo)+114=3

qETR A (e, O GRS 17
S orend eaéT (afEte % W
GRS AR Fe

Write about the responsibilities of
a copyright owner. 3

9RIF FA v wfey R
faa

In business, how trade secret is

used ? How can a person protect
trade secrets of its own ? 2+2=4

T[T, IRARE (STl (T 41
R 2 9T JE (049 IRATE (oo
(R s T3 2

What are integrated circuits ? Give
example. Why and how its
protection is required ? Can it be
patented ? How long does
protection last in layout of

integrated circuit ?
1+1+3+1+2=8
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(i)

N 6

iy

SHITS el 7 ol Ginjeaet fim | fag
IR (ALt 22l Yl e + B
(BB 41 witfergey + TS T
T wile [l frs Qi o

Differentiate GATT from GATS,
2
GATT &R GATS-T il foya

Define indusirial design. Why and
how is it under Intellectual
Property Right 7 3+3=6
T N9l 41 (e » Ry TlF (FACP
T (A Fowifiaq wifisepiag WFSE
FIAR 2

Write the structure and functions
of WTO. 2+2=4

WTO 1 o) o4 7 IGEf
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